Exercise— CLOS Networks //\J w

d
Design a Clos network of size 100 x 100, using modules 10x10. In the first stage, only 10 inputs per module are allowed. (o
Consider both cases, strictly non-blocking and rearrangeable network.
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Compare the cost of the crossbar 100 x 100 and the Clos network, strictly non-blocking and rearrangeable, designed in the previous point, giving the gain in both cases.
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Exercise — Multistage Interconnection networks
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Draw a Butterfly network of size 8 and show the routing using jfe self-routing algorithm works for permutation P = 4036 7152
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Draw a Omega network of size 8 and show the routing using the self-routing algorithm works for permutation P =

0123 45 67 (01234567
403671520 (70153426
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